How does my farm business compare?
1. Return on Capital

Return on capital measures the profit (before financing costs) you are generating from the farm against the value of your farm assets. This provides a measure of how well the money you have invested in assets is working for you and enables you to compare your agricultural business with returns in other industries or sectors.

Return on Capital %

= (Farm Income – Farm Input Costs – Machinery Costs – Labour Costs)/Farm Assets x 100

NB. Farm assets include owned land and productive improvements, farm machinery, livestock and produce on-hand.

Farm input costs includes both variable and fixed costs.

	Weak
	Medium
	Strong

	< 2 %
	2-6 %
	> 6 %


2. Debt Loading

1.1. Equity

The size of the equity is a useful measure of the financial position of the owners. It shows the proportion of the total assets that the owners could claim.

Owners Equity (Ratio of owners equity to total assets employed)

· Greater than 90%- Strong- Assess investment opportunities (on and off-farm)

· 70-90%- Satisfactory- Consolidation and on-going development of asset base

· Less than 70%- Potentially weak with poor resilience to adverse circumstances
1.2. Financing costs

Using your assets as security to borrow against is a key tool for business investment and farms can still achieve high levels of profit when they have high debt or land lease costs, but other key areas will need to be managed well. Financing costs include interest on all loans, bank fees and government charges, machinery lease or hire purchase and lease on land.

When used correctly debt can accelerate business growth and improve productivity and profitability, however if used incorrectly it can threaten the viability of the business.

Financing costs as a percent of Farm Income (FM 500)

Financing costs include bank interest and fees, hire purchase, equipment loans and lease payments

	Weak
	Medium
	Strong

	> 12%
	12-5 %
	< 5%


Strong Financing Indicator

· Are changes in business lifecycle going to mean changes to financing costs in the future?

· Is business expansion by borrowing a feasible option or are low debt levels important to you?

Weak Financing Indicator

· Has income been low or can it be increased?

· Do you have appropriate interest rates and finance terms?

· Are there opportunities to reduce debt?

· Are debt levels limiting productivity and constraining the business?

· Is selling assets a consideration?

· What is your attitude to debt?

3. Machinery Costs

How much are you spending on machinery, including depreciation, hiring, leasing, contracting and repairs? There is generally a relationship between machinery and labour and if one indicator is weak that is not a problem if the other is strong.

Indicators

Machinery Value to Gross Farm Income

Market value of cropping machinery divided by Gross Farm Income, averaged over 3 to 4 years

	Low
	Medium
	High

	< 0.8
	0.8 to 1.2
	> 1.2


Machinery Value per tonne grain/hay produced 

Market value of cropping machinery divided by the total number of tonnes produced, averaged over at least 3 to 4 years

	Low
	Medium
	High

	< $200
	$200 to $400
	> $400


This is a measure of the capital invested in machinery to produce grain and hay (farm productivity). This figure is very dependent on seasonal conditions; therefore an average figure over three or four seasons will be a more meaningful indicator. This needs to be considered together with the cost of contracting operations.

	Machinery Costs as a percent of Farm Income

Machinery costs divided by Farm Income averaged over at least 3-4 years (FM 500)

	Weak
	Medium
	Strong

	> 30%
	30-20%
	<20%


This includes operating costs (paid contractors, freight, registration, insurance, repairs, fuel & lubrication) and machinery replacement costs (leasing or depreciation).

Strong Machinery Cost Indicator

· Are costs likely to stay at current levels?

· Is your plant and machinery getting old and replacement could be an issue in the future?

· Does the business have sufficient machinery to farm efficiently at your business scale?

· Does your business require higher labour contribution, because plant is limited?

· Are you planning to increase farm scale in the future?

Weak Machinery Cost Indicator

· Have repair costs been high?

· Have costs been high and are they likely to stay at current levels?

· Have you recently upgraded machinery resulting in high depreciation?

· Is this offset by achieving lifestyle or comfort goals?

· Is your farming system too complicated, requiring a large amount of machinery?

· Have you invested in machinery to enable expansion of the business?

4. Labour Efficiency

Labour Costs

The range of skills and abilities available to the farm are important in achieving business income and success. It is very difficult to measure individual skills and abilities and even more difficult to relate that to how well the farm is performing. A good manager is aware of the limitations of their skills and abilities and is prepared to buy in appropriate skills when and where necessary to make the most efficient use of their time and skills. The efficiency of a farm’s labour will give an indication of how effective labour is in generating income.

Labour Costs as a percent of Farm Income (FM 500)

Cost should include family labour ($30/hr), employed labour, Workcover and both private and employee superannuation. Averaged over 3 to 4 years or more

	Weak
	Medium
	Strong

	More than 25%
	25 to 15%
	Less than 15%


Strong Labour Indicator

· Does your business require higher machinery investment because labour costs are low?

· Does the labour have the skills and experience that may be required in the future?

· Are labour resources under too much pressure, particularly during peak periods?

· Is the age of the labour force or impending loss of staff an issue?

· Can the business continue on at current labour levels in the longer term?

Weak Labour Indicator

· Do you have enough machinery to do the tasks required efficiently?

· Do you spend enough time planning?

· Is labour surplus to what is required and could labour be used in other ways?

· Does the labour force have the combination of skills and abilities necessary to run the business efficiently?

· Are you trying to do too many things at once?

5. Input/ output pricing (Gross Margin)

5.1. Gross margin of individual crops link to Rural Solutions Gross Margins Guide
The gross margin for a farm enterprise is one measure of profitability that is a useful tool for cash flow planning and determining the relative profitability of farm enterprises. They can also be used to assist in assessing the opportunity to develop new farm enterprises.

Gross margin profit is the difference between the annual gross income for an enterprise and the variable costs directly associated with that enterprise.

In calculating gross margins, fixed (overhead) costs are ignored as they will be incurred regardless of the enterprise undertaken. Therefore gross margins, which have different levels of overhead costs should not be compared.

5.2. Output Pricing

The price achieved is often dictated by international markets, however quality can have some bearing on the price achieved. 

5.3. Cost of production link to cost of production sites GRDC, MLA & AWI
Useful way of evaluating what it is costing to produce a particular commodity and what price you need to achieve to make a reasonable profit. Costs include both input and overhead costs.

5.4. Farm Input Costs

Farm profit is determined by farm gross income and the amount of inputs it takes to generate that income. Farm input costs can be reduced in an effort to increase profit, however care is need to ensure that productivity and product quality are not affected too greatly impacting on gross income. Some inputs can be reduced in the short term with minimal impact on productivity (P fertiliser), while others need careful evaluation to ensure reductions do not affect gross income.

Benchmark

Farm input costs as a percentage of Farm income

Input costs Ratio (Input costs / Total Farm Income x 100) FM500

Averaged over 3 to 4 years or more

	Weak
	Medium
	Strong

	More than 40%
	40 to 30%
	Less than 30%


Fertiliser Application

Phosphorus is an expensive input, therefore it is important to know the amount of soil P available in each paddock / soil type. Phosphorus fertiliser rates can be reduced in some soil types with minimal impact on gross income. The application of nitrogen fertiliser can be delayed until later in the season when there is a clearer picture of seasonal conditions and likely yield potential. This can save costs in some seasons, but there is a risk of greater N losses, due to volatilisation. 

Benchmark

Fertiliser costs – less than 12% of Total Farm Income

Chemical costs – less than 8% of Total Farm Income
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